XF e (BIEADFER)

(1] RO#EE LI,
(1) 5ax2b (2) 4y X(—2x) 3) (—=3ab)Xxc 4) (=7z)X(—2ry)

ROFEE BT,

1) Tax2b @ (—62)x(—8) () (—4a)><%b (4) oy X (—8z2)
5] ROBEE LRI,

1) (=32)x2%  (2) dabx(—2b) 8) (—z)? 4) (—3a)
4] ROHEE LI,

1) 6m xm @) 4z X(—5zy) 3) <—%a>3 @) (—a)x(Tab)’

[5] ROFEELZ I,
(1) 18ab+6a  (2) —12zy+(—3y) (3) 6a’+(—3a) (4) (—152%+5z2

[6] ROFEELZIW,
1) 2lzxy+3z (2) 8abc+(—8bc) (3) (—6a?) =2a 4) 36mn?=12mn



ROFHEEZ LRI,

1) 12ab =24

5

ROFFEE BT,

1) Sax(—100)

5

(—bab)*

—5z X (—2z)*

_ 0 2.1
g2 Y

[9] ROFEELZI W,
(1) (—5z)*x2y

3
Ory = 5Y

(2)

—1522+ =2

(4) (—=m)*X(=2mn)

6) 6a% +<

(3)

—%ab)

20abc +4a +-(—5c¢)



ROFEE LEI,
7

1) (—3abix2 () —14a2b4+<—€a2b2> 3) —15xy2+<—%x2>+<—%y>

ROFHEE LRI,
(1) 9ab x4b=(—6b?) (2) 40z°+(—5z)=(—A4zx)

(3) 4a®+5bx10b* (4) —bzy®+152% X 9zy

ROFEE LI,
(1) 9ab x6a-(—18b) (2) 12z% +20zy*X5y°

3) (—6a)+<——ab>><3b ) 2x2yx3xy2+<—%x2y2>



ROFEE LEI,

1) 9a’xab+(—3b) 2) 1622 (—day) X (—y?)
(3) —2a°x6b = (—4dab) @) 8ry?=(—12y)x3e
5) 12ab X (—2ab?) +(—6a%) 6) —5ay®+ 102X 22%”
@) 3ab2x4a2b+<—%b2> 8) 22X (—3y)+ay’
) (—dz)?X By +(—2) 10) 2Lab=(—3b7x2ab



